A = 0O & AF S F Al A
20099 E = 38 UPSH O{LINSHME PSEXA ~ HAISHME XA
SN HYIEMEH FHRA
M MHSAAH (YIISME FSXA)(IIEHIIE)

ool D= (oA
SNBSS - HRAY - BHES 0 & o4 01 o HIRZE2
IS ME FEHT A 437,040 384,503 52,537

= 428,540 376,003 52,537

= 8,500 8,500 0

HH2YFH (KA EMEH SHXIA)(OIEHIIE) 88,990 36,453 52,537
= 80,490 27,953 52,537

= 8,500 8,500 0

o=l 86,750 34,213 52,537
= 78,250 25,713 52,537

= 8,500 8,500 0

DICECIEES 78,250 25,713 52,537
= 78,250 25,713 52,537

201 Yere | 49,636 12,811 36,825
= 49,636 12,811 36,825

01 AtR2telt| 9,783 5,558 4,225
EEETES= 4,624 3,024 1,600
ONREERYS 2 4,604,0002! 4,624 3,024 1,600

= 4,624 3,024 1,600

Dol =l 23X 1,200,000 1,200 175 1,025

= 1,200 175 1,025

mERL A 1,675,000 1,675 675 1,000

= 1,675 675 1,000

mEpE 23X 700,0008 700 100 600

= 700 100 600

02 2Z=H| 39,853 7,253 32,600
DA & B HIR X Yl 32,600 1,000 31,600

OAl& ZHIS XY 23X 32,600,0002 32,600 1,000 31,600

= 32,600 1,000 31,600

CIXb2E & ety 2,957 1,957 1,000
OXNZREURNE4H  ZH 2,957,000 2,957 1,957 1,000

= 2,957 1,957 1,000

202 01l 18,902 12,902 6,000
= 18,902 12,902 6,000

01 2UHoiH| 18,902 12,902 6,000
DY NALRER0E  ZH 18,902,0008 18,902 12,902 6,000

= 18,902 12,902 6,000

405 XtaHE S| 9,712 0 9,712
= 9,712 0 9,712

01 RtALSEFHSH| 9,712 0 9,712
OASEI1DI7YS 9,712 0 9,712

= 9,712 0 9,712




